Guia de Instalagao UBTOUIT)

AirMax AirGrid M5-HP 27dBi - 17X24”

RN

NETWORKS

N

Pega Qtd.
Refletor de Grade 17x24”
Alimentador da Antena
Adaptador

Suporte do Alimentador

Suporte L @ M6 Porca Flange

4
Suporte em Abracadeira © M6 Arruela 4
M6 Abragadeira U 4

1

M6X20 Parafuso

@ M6 Arruela de Pressdo
@ Buchade isolagdo do Alimentador

0000
0000

Os produtos podem ser diferentes das fotos e estdo sujeitos a alteragcées sem aviso prévio.

Obrigado Suporte

Obrigado por comprar este Os engenheiros de suporte técnico da Ubiquiti estdo localizados

produto Ubiquiti AirGrid M5-HP 27dBi. nos Estados Unidos e Europa e estdo dedicados a lhe ajudar a
resolver problemas de software, compatibilidade de hardware e
outras questdes, o mais rapido possivel.

Ferramenta necessaria para montagem )
Internet: www.ubnt.com

Chave inglesa 10mm (Qtd. 1) Forum: www.forum.ubnt.com

Distribuidor

Homologado
) Iw Autorizado .

UBIQUITI pela Anatel
wwwoiw.combr  no Brasil ANATEL 2060-11-5966

General Warranty:

UBIQUITI NETWORKS, Inc (“UBIQUITI NETWORKS") represents and warrants that the Products furnished hereunder shall be free from defects in material and workmanship for a period of one (1) year from the date of shipment by UBIQUITI NETWORKS
under normal use and operation. UBIQUITI NETWORKS sole and exclusive obligation under the foregoing warranty shall be to repair or replace, at its option, any defective Product that fails during the warranty period. The expense of removal and
reinstallation of any item is not included in this warranty.

The foregoing warranty is exclusive and in lieu of all other warranties, express or implied, including the implied warranties of merchantability and fitness for a particular purpose and any warranties arising from a course of dealing, usage or trade practice
with respect to the products. Repair or replacement in the manner provided herein shall be the sole and exclusive remedy of Buyer for breach of warranty and shall constitute fulfillment of all liabilities of UBIQUITI NETWORKS with respect to the quality
and performance of the Products. UBIQUITI NETWORKS reserves the right to inspect all defective Products (which must be returned by Buyer to UBIQUITI NETWORKS factory freight prepaid).

No Products will be accepted for replacement or repair without obtaining a Return Materials Authorization (RMA) number from UBIQUITI NETWORKS. Products returned without an RMA number will not be processed and will be returned to Buyer freight
collect. UBIQUITI NETWORKS shall have no obligation to make repairs or it by catastrophe, fault, negligence, misuse, abuse, or accident by Buyer, Buyer's customers or any other parties. The warranty period of any repaired or
replaced. Product shall not extend beyond its original term.

Warranty Conditions
The foregoing warranty shall apply only if:

()] The Product has not been subjected to misuse, neglect or unusual physical, electrical or electr omagnetic stress, or some other type of accident.

(I No modification, alteration or addition has been made to the Product by persons other than UBIQUITI NETWORKS or UBIQUITI NETWORKS'’s

authorized representatives or otherwise approved by UBIQUITI NETWORKS.

1y The Product has been properly installed and used at all times in accordance, and in all material respects, with the applicable Product documentation.
Disclaimer. UBIQUITI NETWORKS does not warrant that the operation of the products is error-free or that operation will be uninterrupted. In no event shall UBIQUITI NETWORKS be responsible for damages or claims of any nature or description relating to
system performance, including coverage, buyer's selection of products for buyer’s application and/or failure of products to meet government or regulatory requirements.

Returns
In the unlikely event a defect occurs in this product, please work through the dealer or distributor from which this product was purchased.

© 2009 Ubiquiti Networks, Inc. All Rights Reserved. Contents may vary depending on model version - Features and specifications subject to change without notice.



Guia de Instalagao U BTQﬁU%

AirMax AirGrid M5-HP 27dBi - 17X24” NETWORKS

1. Instalando o Suporte do Alimentador e o Suporte L no Refletor

Instale o @ Suporte do Alimentador e o @ Suporte L ao @ Refletor de Grade
17x24” usando:

@ M6x20 Parafuso (Qtd. 4)
® M6 Arruela de Pressdo (Qtd. 4)
O w6 Arruela (Qtd. 4)

2. Instalando o Adaptador e Conectando o Cabo de Rede ao
Alimentador

Encaixe o @ Adaptador no @ Suporte do Alimentador.

Passe o cabo de rede através o furo inferior do @ Suporte do Alimentador e

conecte a porta RJ-45 na parte traseira do @ Alimentador da Antena.

3. Instalando o Alimentador da Antena

Encaixe o@ Alimentador da Antena no@ Adaptador.

A polarizagdo do produto deve ser a mesma usada no outro dispositivo

que fard a comunicagdo (Horizontal para Horizontal, Vertical para Vertical).
Para polarizagdo Vertical, o Q Refletor de Grade e o GAIimentador da Antena
devem ser montados como na Figura 3A. Para polariza¢do Horizontal, o

O Refletor de Grade e 0@ Alimentador da Antena devem ser montados como
na Figura 3B.

4. Instalando a Bucha de Isolactio do Alimentador

Envolva o cabo de rede com a @ Bucha de Isolagio do Alimentador e passe
pelo furo do @ Suporte do Alimentador.

5. Fixe a Antena ao mastro

O suporte pode ser fixado em mastro de &1.25"-2.2"
Instale a antena no mastro usando:

® M6 Abragadeira U (Qtd. 2) \ (
@ suporte em Abracadeira (Qtd. 2)
@ M6 Porca Flange (Qtd. 4)




